N = 0l & At & Ml A
20172 = =0l &k LA TAIAF

2N SAIAFD
3 Dl NeE=

A CARY
el TAPT XY (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SANA=H 9,982,864 10,914,930 932,066
= 1,129,095
Xl 2,943,000
= 401,969
Al 5,508,800
OlcHXI&H S AIDHE 7,326,989 8,353,585 A 1,026,596
X 2,483,000
< 195,000
Al 4,648,989
SAB2 24 113,380 12,480 100,900
SANZ2S EOIF HA 8,340 8,340 0
201 et 3,480 3,480 0
01 At 22l 3,480 3,480 0
OZdidtE s 2= WA
60,0003 = 34! x 13 180
OFR(CIXQ)ARE FA+Y
70,000 = 129 = 23] 1,680
OZ2& (LX) As ZHAX 0idl
81,000& = 10Y « 23] 1,620
202 044l 4,860 4,860 0
01 = LH o4 1l 4,860 4,860 0
OZAIZ2(CIX)ERFE
81,000& = 2 * 3 * 103l 4,860
Al ZAH Z2(32)xH 2el 105,040 4,140 100,900
201 Lt 4,140 4,140 0
02 =224l 4,140 4,140 0
OAZH 22 () AZEE A4 KX 4,140
oM ¥ S+83 FA 350,000& = 23| 700
ozl E+E2H WA P
40,000 * 5J4 = 53 1,000
CNIEHE U S4Y3 ML
120,000& * 123 1,440
ocZ+83 ol B Y WEWI 1,000
401 AIEHI L 20 100,900 0 100,900
01 A& HI 100,000 0 100,000
O&d& FHlAt 100,000
03 AlE 2 THHI 900 0 900
OZ& ZFHIALY 204l
100,000,000 = 0.90/100 900
S ATHE FHI 506,246 302,326 203,920
SAZeHE 2 21,246 21,246 0
201 et 16,246 16,246 0




EA: TAASD

X DX &R TAHE

CH: T AIAHE FH| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| H| 16,246 16,246 0
OZAHEANLEZEE M2E2DE
2,200,000 * 2J0 Kl * 23| 8,800
OZAHNLSAS Ha+g
70,000& = 15Y = 33| 3,150
OZANHERAS EBAX O]
81,000& x 4H x 43| 1,296
OSANEAL HFHE Syo42
00,000 * 3 A = 23] 3,000
202 o4l 5,000 5,000 0
01 2L HI 5,000 5,000 0
OZAHE 2L 2F&X 5,000
EXNELHI} 4 200,000 100,000 100,000
207 30 & 200,000 100,000 100,000
01 gAY 200,000 100,000 100,000
OEXNHEHI 24 200,000
S A HE F0I0IR A ALY 85,000 0 85,000
401 Al HI L 2 0HHI 85,000 0 85,000
01 Al& B 85,000 0 85,000
OANSZ2 LA XNATZ 0 (SIKdHA) 85,000
BHANSE =W QI & A HHl Z2AF 200,000 0 200,000
401 Al HI L 204 HI 200,000 0 200,000
01 Al&H| 198,570 0 198,570
OEHAFSA = ol =8t HH| B A 198,570
03 AlE 21| 1,430 0 1,430
OBAtA = oI &8AH HH| ZAF 20HHI
198,570,000& = 0.72/100 1,430
T AZ2S 22 1,872,810 3,568,572 N 1,695,762
Xl 650,000
& 195,000
Al 1,027,810
SN2 22 33,734 32,798 936
101 Q124 H] 19,884 18,948 936
04 JI2ZtHIZ2 2 NEE S 19,884 18,948 936
O&txd2ae 22X B4 19,884
ocllgaz 51,760& ~ 1¥ x 290 15,011
oxS 4G 51,760& x 1¥H » 58¢ 3,003
o 2HAIH| 3,0008 » 1 * 290 870
o HAEF Y| 500,000& * 1Y = 23| 1,000
201 LBt 13,850 13,850 0
01 AP 22| d| 2,000 2,000 0
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COlHNIEE SANY

el

X ZH
S =

SANA=H

SASE 2el

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OXHR 22UESE 7Y 2,000
02 332494l 11,850 11,850 0
OFXNAR &I 400,000 = 12& 4,800
OEXNHAR Mot 23 250,000& = 12& 3,000
OXdHZ A=zl 200,000& * 5& 1,000
OXEHR A& & S Xdl 2,000
OgXNdHZE HotXx = =]
25& * 42,0004 * 13 1,050
Agtatm X 22 25,776 23,254 2,522
101 @121l 15,976 15,054 922
04 JI2ZtH22XNHEE =+ 15,976 15,054 922
OdSINRIAX 22X B 15,976
ocllEa 51,760& » 198 » 230 11,905
oFsY 51,760& » 1H x 46 2,381
o 2HAH| 3,000& = 19 * 230 690
o YA SF I 500,000 * 1Y = 23] 1,000
201 et A | 9,800 8,200 1,600
01 AFR2t2l bl 3,800 4,000 A 200
OdgaRIAX 22X MES 1,800
OdsidFAAX 242185 7 2,000
02 =329l 6,000 4,200 1,800
OdsSIREX IS 300,000& « 12& 3,600
OdgRIAX Aot==2=2 200,000& * 128 2,400
SHi a2 2el 7,000 4,600 2,400
201 Bt A H| 7,000 4,600 2,400
01 AP 2t 2l Yl 1,000 0 1,000
OstieEsd 228 1,000
02 33249l 6,000 4,600 1,400
OsHIeEEd IR 200,000& = 128 2,400
O&H2#2d &dotx==2=2  200,000& * 128 2,400
O&HteEsd AMEH S Xl 1,000
OsHEHZ2E HoX B2 +=HH|
25% * 8,000 * 13 200
23 ZH EXZE AUDE ZLAY 506,300 2,207,920 ~1,701,620
401 Al HIL 201 506,300 2,207,920 A 1,701,620
01 Al &bl 500,000 2,200,000 A 1,700,000
OHE22E T SA 500,000
03 AlE 201l 6,300 7,920 A 1,620
OB 2522 XE S A 20| 6,300
ST N (HEAMRIAX HHIALY) 1,300,000 1,300,000 0




2N SAIAFD
X DX &R TAHE

el SAISE 2tel (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 650,000
< 195,000
Al 455,000
401 A& HIZ 201 I 1,300,000 1,300,000 0
X 650,000
< 195,000
Al 455,000
01 A& HI 1,295,336 1,295,336 0
Odste SAX HHIZA 1,295,336
Xl 650,000
< 195,000
Al 450,336
03 Al 2 0HHI 4,664 4,664 0
Odgtat RFX FHISAH 20|
1,295,336,000& = 0.36/100 4,664
SAZNE 22 19,642 24,642 25,000
202 AHA AlE FHl 15,000 20,000 A5,000
401 AIEHI L 20 15,000 15,000 0
01 A& HI 15,000 15,000 0
O8=% AHAN &4 10,000
O&8=2 HAItH 2= 5,000
22 Mo 29 862 862 0
201 L4l 862 862 0
01 At 22l 862 862 0
OzNE MM ALY
70,000& * 5% « 13l 350
O=sAZNEHII=2E doAds &g
70,0002 = 5% + 13l 350
OZ1NsE doIds FANWH
81,000& = 2% = 13 162
s8H&Z0s &l 3,780 3,780 0
201 ¢er24| 600 600 0
02 =224l 600 600 0
OSEE &523 50,000& = 12& 600
202 044l 2,400 2,400 0
01 = LH o4 1l 2,400 2,400 0
OsgZdins N -4 g2 2,400
301 et A3z 780 780 0
MIIEELSS 780 780 0
Osg&ZinsE =A24 780
od ot 500& = 10& = 52 = 12& 300
o8 & 1002 * 50& * 5& » 123 300




2N

X{ XH -
S =

£

SAA=Y
Ol XI&H AN
P EAZDE 2o

=

q
S E B (3H) - MBAY - BES Ol &F o4 ﬁ}lgﬁ HD=2
| | o MEHT 202 * 150% * 52 * 122 180
TAHEZZ WA 1,719,540 1,054,410 665,130
I MNegcz Hae 100,900 0 100,900
401 AlEH 2 20| 100,900 0 100,900
01 Al Hl 100,000 0 100,000
OIW= MYT2 M BA 100,000
03 Al 20 H 900 0 900
ONWE AYTZ HE2A 20
100,000,000& * 0.9/100 900
CAIEY DG AAS 402,520 300,720 101,800
401 A2 HI 220 402,520 300,720 101,800
01 A& 400,000 300,000 100,000
OZAAE DA AAY 200,000
OEel YUIEZ 2HE2 Y 50,000
2D DAF 12 W42 FHI2A 50,000
OMEZ 42 HHIZA 100,000
03 Al& 2T 2,520 720 1,800
OZADIIZY QIR AAY 204
350,000,0002 * 0.72/100 2,520
USSR L3U T2HEZA 20,000 0 20,000
401 AlEH 220 20,000 0 20,000
01 Al H 20,000 0 20,000
OZEU2~E R L322 T2 DA 20,000
=U2~FH A2 T2WE B A 201,440 0 201,440
401 AlEHI 2 2THY] 201,440 0 201,440
01 Al&HI 200,000 0 200,000
OZEg2~HH5| A2 T2WE DA 200,000
03 Al 2 1,440 0 1,440
O=Y2~HUHF| A T2IMEBA 20
200,000,0002 * 0.72/100 1,440
ACH QCD AXDA 201,440 0 201,440
401 AlEH 2 204Y| 201,440 0 201,440
1 Al &l 200,000 0 200,000
OAGCH(HEXOQ2) 2T Wm X A 200,000
03 Al& 2T 1,440 0 1,440
O (HEXZ) T m &% 2AF 2041
200,000,000& * 0.72/100 1,440
MNetZ M4AXTR S2IHEZA 453,240 50,540 402,700
401 AlIEH 2 20HY| 453,240 50,540 402,700




2N
COlHNIEE SANY

el

X ZH
S =

SANA=H

SAAHEEZ HE

(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 Al&H| 450,000 50,000 400,000
OME2 48X S2IHE S A 450,000
03 A& E2HH]| 3,240 540 2,700
OKSZ2 AR T2IHEZAF 20|
450,000,000& * 0.72/100 3,240
SHERCHX] XA HYZ2A 20,000 0 20,000
401 Al HI L £ 0HHI 20,000 0 20,000
01 Al& H| 20,000 0 20,000
OsetEsH Xl NAEZZ HH|IZAH 20,000
SHAANE A 2A-F0HEH2 S22 A 20,000 0 20,000
401 Al HI L 2 0HHI 20,000 0 20,000
01 Al&H| 20,000 0 20,000
OEAANHENZ~FHAEZE T2 IHE Z A 20,000
NS AM-EHBEDIE 2 =2 A 20,000 0 20,000
1T AIEHI L 20| 20,000 0 20,000
01 Al&H| 20,000 0 20,000
ONSKA~EHEHOIEZ S 204 Z2 A 20,000
EHSH QI AL -G NXE T2 IHE ZB A 30,000 0 30,000
401 AlEHIZL 2 0HY| 30,000 0 30,000
01 Al&H| 30,000 0 30,000
OB QI A S ~ SHLEMRE T2HE S A 30,000
AtHI2ZIZ2 OIS8YWE X Z2AH 250,000 0 250,000
401 Al HI L £ 0HHI 250,000 0 250,000
01 Al& H| 248,212 0 248,212
OAHHI2I =2 0ISX Y e X A 248,212
03 Al&E 201 Y| 1,788 0 1,788
OAMHIZIZ 0tSX Y AX 2 A 20|
248,212,000 * 0.72/100 1,788
INDARA 3,095,371 3,391,155 N 295,784
Xl 1,833,000
Al 1,262,371
2l THMES S AITHAAISE K& 3,019,000 3,084,165 65,165
Xl 1,833,000
Al 1,186,000
201 et 9| 70,000 1,402,033 N 1,332,033
N 42,000
Al 28,000
03 HAI2 G HI 70,000 30,000 40,000
OZAIM T2 2 70,000
Xl 42,000
Al 28,000




2N
COlHNIEE SANY

el

X ZH
S =

SANA=H

S ALK A

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
401 Al& Bl & 28I 2,879,000 1,006,300 1,872,700
Xl 1,749,000
Al 1,130,000
01 A& HI 2,868,672 1,000,000 1,868,672
Osel TAHY &K DAY 2,868,672
Xl 1,749,000
Al 1,119,672
03 A& =TI 10,328 6,300 4,028
Oscl TAMNY dEXAAY SO0l
2,868,672,000& = 0.36/100 10,328
405 XHoHE S HI 70,000 20,000 50,000
Xl 42,000
Al 28,000
01 AL EFFHSHI 70,000 20,000 50,000
OX2ENZ S FUAHASEZNHR2E =
z 7 70,000
Xl 42,000
Al 28,000
S AITH A K] 2 4l E 70,539 56,990 13,549
101 144 dl 15,976 15,054 922
4 JI2ZtHZ22XREES 15,976 15,054 922
OEAHMEXJME REX 15,976
=JIEg= 51,7603 = 198 » 230 11,905
ocxgg 51,7603 = 18 « 46¢ 2,381
o ZHAlH| 3,000& * 18 = 230 690
o P EFOHI 500,000& » 1Y = 23] 1,000
201 L2 | 52,019 38,244 13,775
01 At 22l 45,875 32,100 13,775
OZANTHMIALE SZ2C0 &Sl
100,000 * 19 » 240 24,000
OSATHMRALEH &SIt &l
71,740 = 2¥ » 96 13,775
OZANMY =222 oM & ME 4,000
OEATHY el2tgos 2 2,000
OMREE 7Y (SAMX S)
100,000& * 12& 1,200
OAR2101 A88 #+¢ 300,000& = 33l 900
02 3323l 6,144 6,144 0
(@FSPIR=E=; 100,000& * 12& 1,200
O&ol=E 23 100,000& = 12& 1,200
ORERS 50,000& = 12& 600
Ozl 300,000& = 43 1,200
OeHY 23 32,000& = 12& 384
OSAl & H=J] U= 130,000& = 12& 1,560




2N

SANA=H

I Ol KIEE T AN
CHRl: S Al XH A (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
301 Bt A= 1,944 2,592 AN 648
09 HAIAHI EAZ 1,944 2,592 A\ 648
OSATHMAD 30 U DIEA
81,000& x 3H * 22 x 43| 1,944
405 XHA&HF S HI 600 1,100 A 500
01 XA 2 FF S| 600 1,100 A 500
@l=3='Ip] 600,000 ~ 1CH 600
22 THA S SAITHAMAFS X (XA 5,832 0 5,832
202 o4l 5,832 0 5,832
01 2Ll 5,832 0 5,832
OZEANMMAL =20
81,000& * 3Y * 2Y x 123 5,832
EA FTHReEH 1,084,474 841,754 242,720
= 26,000
Xl 460,000
& 68,750
Al 529,724
A=A AMHA HD 31,214 34,714 A 3,500
4% &oF & Al 30,014 33,514 A 3,500
201 gBt2Ay| 24,014 26,514 A 2,500
01 AFR 2t 2| H| 24,014 26,514 A 2,500
OZHZHE S22 400,000 * 23] 800
OHASAMYR = 55,535& * 2004 11,107
OAZHH B A A QI
10,000& = 582 x 10 500
OA=E/AA3 &EFAE42 70,0008 » 198 x 33 3,990
OA=A3 A 0H 81,0008 * 19%€ * 33 4,617
OHEAHETNNELST EEEA A= 3,000
202 o4 H| 6,000 7,000 A 1,000
01 2L HI 6,000 7,000 A 1,000
OAFEI L MNgR =& 6,000
OlECI2 ol A EHOIA 2922 1,200 1,200 0
307 giztol A 1,200 1,200 0
05 QIZtR E S 1,200 1,200 0
Qe-ol2A X 22 100,000& * 128 1,200
TAFEAHEH HH 1,053,260 807,040 246,220
= 26,000
Xl 460,000
& 68,750
Al 498,510
BI& YA 100,900 100,900 0




EM: TAASD
dM: JEd =HEI}ZY
Sl SAENEZ T (S &2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
401 Al& Bl & 28I 100,900 100,900 0
01 A& HI 100,000 100,000 0
OoglE &l 100,000
03 A& =2 I 900 900 0
OBl &l 20yl 100,000,000 * 0.90/100 900
S F=HAE 242,760 192,140 50,620
< 9,750
Al 233,010
201 Let249H] 10,860 3,440 7,420
01 At 22/l 10,860 3,440 7,420
OBSFUNA 4ol B £g
70,000& * 6% = 23| 840
OBSxeupe 2HIFIAS ALY
70,000& * 6% = 13 420
O=s=ezel 2Axg
100,000& = 6H * 13l 600
O AdF=NUESF 2 S WS 2,000
OZSFEAHL 220 E2E AEA MH 7,000
202 odl 2,400 1,200 1,200
01 = LH o4 1l 2,400 1,200 1,200
OZESFe 22| Y NAHE ALEX 2,400
401 Al Bl & 28I 29,500 37,500 A 8,000
< 9,750
Al 19,750
01 A& HI 29,500 37,500 A 8,000
SSFE HHR2D| MOISHE &I 10,000
OLA2 S5 otdEd 19,500
< 9,750
Al 9,750
402 2I2H X201 M 200,000 150,000 50,000
01 2I2E 2 A B (RERITH ) 200,000 150,000 50,000
Oz K& 200,000
e SZSLUFE AEHLAY 52,000 0 52,000
= 26,000
Al 26,000
401 Al& Bl & 28I 52,000 0 52,000
= 26,000
Al 26,000
01 A& HI 52,000 0 52,000
OL=SZSLUFE ANEHLAS 52,000
= 26,000
Al 26,000
SA FHAXS MENEA NEAG(EY &4YSs) 557,000 514,000 43,000




EM: TAASD
M AP FHSHEH
SRl SAFENEY Tl EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 390,000
< 50,000
Al 117,000
201 Let24E] 10,000 24,000 A 14,000
X 7,000
< 900
Al 2,100
01 At 22l 10,000 24,000 214,000
OZSZ2L =4 (EY 4ES) 10,000
Xl 7,000
< 900
Al 2,100
401 AIEHI L 20 547,000 479,900 67,100
Xl 383,000
< 49,100
Al 114,900
01 A& Hl 543,575 476,469 67,106
O28TZ2E 2 401 M (EY AYs) 543,575
Xl 383,000
< 49,100
Al 111,475
03 Al S THHI 3,425 3,431 A6
OANL=RUH(2Y 42S)
543,575,000& * 0.63/100 3,425
A FHAXS MEWA NEAIL(SE ME02) 100,000 0 100,000
Xl 70,000
< 9,000
Al 21,000
201 L4l 5,000 0 5,000
X 3,500
< 450
Al 1,050
01 At 2t 2l 5,000 0 5,000
OsZ320 gstl 5,000
Xl 3,500
< 450
Al 1,050
401 AIEHI L 20 95,000 0 95,000
Xl 66,500
< 8,550
Al 19,950
01 A& Bl 94,152 0 94,152
OAXEEZME 2 400 A 94,152
Xl 66,500
< 8,550
Al 19,102
03 A& S THHI 848 0 848
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94,152,000& * 0.90/100

848

600

600

600

600

300,000& * 20H A

600
600

600

=z N H

,380,293
, 103,095

138,219
138,979

,530,623

A 150,330

= HnH

,380,293
, 103,095

138,219
138,979

,530,623

A 150,330

=z N H

,376,493
, 101,195

137,649
137,649

.530,623

A 154,130

= HnH

,018,493

814,795
101,849
101,849

.290,623

A272,130

= 0 H

—_

,018,493
,018,493

814,795
101,849
101,849

,290,623

A272,130

403 TR SHHSA=01H

= M W

358,000
286,400
35,800
35,800

240,000

118,000

= N W

358,000
358,000
286,400

35
35

,800
,800

240,000

118,000

= H W
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570
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3,800
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,800
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570
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3,800
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,800

,800
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EM: TAASD
HE: HASS MEOHE XL
el 2OIEME 2T (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 570
Al 1,330
HE2LAZH(SAIASFD) 41,108 38,968 2,140
Jl=&l 41,108 38,968 2,140
Jl2dBl(SAIA=s1) 41,108 38,968 2,140
201 Let24dH] 34,828 32,688 2,140
01 At 2teltl 31,828 30,288 1,540
ORA2Y JIE23H 250,000& = 12& 3,000
OMREE FL(SAMNES) 250,0008 * 128 3,000
OHFARII & 225 72¢
350,000 = 13CH = 23] 9,100
Oda=J gz 60,000 = 2CH » 12& 1,440
o=l 7,0002 * 26F « 7 » 123 15,288
02 2324l 3,000 2,400 600
ORERS 250,000& = 123 3,000
202 O4dl 2,080 2,080 0
01 = LHA YI 2,080 2,080 0
Oofl&aze 2ol 2,080
203 YR =& 4,200 4,200 0
04 FN2EHSZ=TH| 4,200 4,200 0
ORAN2EYF=AHI 350,000& = 12& 4,200
MEES(ZTAASF) 150,000 150,000 0
HEAHHK = 150,000 150,000 0
HEHeH X = 150,000 150,000 0
701 JIEtSI HETES 150,000 150,000 0
01 JIEtSIHE &S 150,000 150,000 0
OUXNELEESAH HES 150,000




